(b) Find the critical depth and critical velocity of the
- water flowing through a rectangular channel of w 1IN
wvidth 5 m, when discharge is 15 m*/s. 5 Ol NO. wevavarusssasssesens A
(c) Find the rate of change of depth of water in a
rectangular channel of 10 m wide and 1.5 m deep, , @O@Q
.irmb the water is flowing ,s&r a velocity of 1 B. Tech. 4th Wmamm.wmﬂ Aﬁuw<m~v
m/s. The flow of water through the channel of Exami natio 1v, 2021
bed slope 1 in 4000, is regulated in such a way that n - July,
a slope of 0.00004. 5 :<w“gm.u+“uﬂmuz%_“’_nwmﬂzm
Time : Three hours ] [ Maximum Marks : 75
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: have been supplied the
complaint in this regard,

at a certain section of a

is 0.3 m. The
Note : Attempt five questions by selecting 0

ow of water,
question No- 1is com

8. (a) The depth of fl

rectangular channel of 2 m wide,
discharge through the channel is 1.5m’/s.
Determine whether a hydraulic jump will occur, from each Unit and
~ and if so, find its height and loss of energy per kg . .
of water. . 7 1. Define any six from the following: 25x6=15
(b) What is hydraulic jump » Write down different (i) Causesof turbulence
types of hydraulic jump and various applications (i) Loss of head due to obstruction and bend in pipe
of Tv\.&m:&n jump- 8 (iii) msc-namnmr critical & m:ﬁmn.namnm_ flow :
) . . . (iv) Elements & nrmnmnnmlmmn.m of r<mnw:bn :5.6
9. (a Define surge in an open channel. Derive an : _ B
expression for positive surge due to sudden (v) Loss of head due to sudden expansion and
increase of flow 10 . sudden contraction in pipe
.y : (vi) Steady and unsteady flow
(b) Explain the moment of momentum equation. 5 ; _ . o
. (vii) Branching of pipes
NSNS, o e A | ?EVUEmHm:nmS petween Open Channel flow and
| Pipe flow : :
momo-:mo-%.&xo-ovﬁ: : pP.T.O.
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